Assembly instructions

Parco Furniture series

List of contents

Product Overview — Parco Furniture Series

Assembly and Dimension Specifications
Parco Chair and Armchair
Parco Chair and Armchair with Attaché Table
Parco Lounge Chair
Parco Stool and Barstool
Parco Children's Chair
Parco Sofa
Parco Bench
Parco Round Tables
Parco Conference Table
Parco Rectangular Tables
Parco Junior Chair and Table

Furnishing with Round Tables
Furnishing with Rectangular Tables

Surface Mounting
In-Ground Mounting

w

.15
.16

17
.18

. 2-3

<>

nola

Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se

1(18)



Parco Furniture series
Product overview

019-20/30 Parco Side table

019-22/30CARR Tabletop in
Carrara marble

019-20A Parco Armchair
O19-22A Parco Swivel armchair

019-20 Parco Chair
019-22 Parco Swivel chair

019-21B Parco Bar stool
019-23B Parco Swivel
Bar stool

019-21 Parco Stool
019-23 Parco Swivel stool

019-20B Parco Junior Chair

019-26 Parco Park bench
019-26A Parco Park bench
with armrest

019-27 Parco Bench

Ritad av Joachim Henriksson
Ritad datum 2024-03-21

019-18 Parco Lounge chair
019-19 Parco Swivel Lounge
chair

019-29 Parco Child's chair
019-29S Parco Swivel
Child's chair

Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se

nola

2(18)



Parco Furniture series ot o gy
Product overview

019-24/123 Parco 019-24/66 Parco 019-28 Parco Bar
Round table 123 cm Round table 66 cm table 66 cm

<D

019-16 Parco 019-25 Parco 019-25B Parco Junior 019-25S Parco
Conference table Rectangular table Rectangular table Rectangular bar table

Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90 3 1 8
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se



Parco Chair and Armchair Ritad av Joachim Henrksson
Product information

019-20 Parco Chair

019-22 Parco Chair with Swivel Function
019-20A Parco Armchair

019-22A Parco Armchair with Swivel Function

% M for In-Ground Mounting — The armchair is
O 0 equipped with an extended leg that is cast
< < 400 mm into the ground.

N for Surface Mounting — The armchair is
equipped with a wide base plate that is
bolted to the ground.

Assembly Instructions

400

Turn the chair or armchair upside down,
ensuring that the wood is protected.
N R | L Attach the frame to the seat shell using the

four included screws and washers (MK6S
M10x16 + FBB M10). Use an H6 hex key.

For in-ground mounting, ensure that the top
edge of the front board is positioned
approximately 455 mm above the finished
surface.

®
n o lq Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90 Ll' 1 8
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se



Parco Chair with Side table Ritad ay Jooohim Henrlksson
Product information

300

254

019-20/30 Parco Side Table for Chair
] or Armchair
[ . . 019-20/30CARR Tabletop in Carrara

= e g = :
Marble (delivered pre-glued to the table).

710

308 |

Assembly Instructions

The Parco side table is available for the
Parco Chair and Parco Armchair. It can
also be mounted on the swivel chair or
armchair; however, this will reduce the
table’s stability. A fixed chair or armchair is
therefore recommended when possible.

The side table is mounted using three
countersunk M8 x 40 screws.

Note! In its standard design, the seat shell
does not have pre-threaded holes for table
mounting. Therefore, it is not possible to
retrofit a table onto an existing chair.

®
n o lq Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90 5 1 8
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se



Parco Lounge chair o sotom 20 001
Product information

(19-18 Parco Lounge Chair
019-19 Parco Lounge Chair with
Swivel Function

570
470

618 . M for In-Ground Mounting — The chair is
equipped with an extended leg that is cast
400 mm into the ground.

N for Surface Mounting — The chair is
equipped with a wide base plate that is
bolted to the ground.

Assembly Instructions

975

Turn the lounge chair upside down, ensuring
that the wood is protected. Attach the frame
to the seat shell using the included screws

] ] and washers (MK6S M10x16 + FBB M10). Use
an H6 hex key.

460

For in-ground mounting, ensure that the top
edge of the front board is positioned
approximately 460 mm above the finished
ground surface.

400

®
n o lq Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90 6 1 8
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se



Ritad av Joachim Henriksson

Parco Stool and Bar stool Ritad ay Joachim Henrlk
Product information

450 , 420 450 , 420

| ‘ | | ‘ | | 019-21 Parco Stool
i ! | ! 019-23 Parco Stool with Swivel Function
- — I ———- i A19-21B Parco Bar Stool

019-23B Parco Bar Stool with Swivel Function

450
450

M for In-Ground Mounting — The stool is
equipped with an extended leg that is cast 400
mm into the ground.

N for Surface Mounting — The stool is equipped
with a wide base plate that is bolted to the
ground.

400

Assembly Instructions
450 . | 420

Turn the stool upside down, ensuring that the
R wood is protected. Attach the frame to the seat

shell using the included screws and washers
(MK6S M10x16 + FBB M10). Use an H6 hex key.

ﬁ
=

For in-ground mounting, ensure that the top
edge of the front board is positioned
approximately 450 mm for the stool, and 78
mm for the bar stool, above the finished
ground surface.

N
N
780

394

276

®
n o lq Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90 7 1 8
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se



Parco Child's chair
Product information

300

/85

557

300

785

557

300

300

Ritad av Joachim Henriksson
Ritad datum 2024-03-21

019-29 Parco Children's Chair
019-29S Parco Children's Chair with
Swivel Function

M for In-Ground Mounting — The chair is
equipped with an extended leg that is cast 300
mm into the ground.

N for Surface Mounting — The chair is equipped
with a wide base plate that is bolted to the
ground.

Assembly Instructions

Turn the children's chair upside down, ensuring
that the wood is protected. Attach the frame to
the seat shell using the included screws and

washers (MK6S M10x16 + FBB M10). Use an H6
hex key.

For in-ground mounting, the hole depth should
be 400 mm instead of 500 mm, as used for
other furniture in the series. The top edge of the
front board on the children's chair should be
positioned approximately 557 mm above the
finished ground surface.

nola

Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se

8(18)



Parco Park bench
Product information

1718

1610

465

950

1610

465

. 950 .

400

019-26 Parco Park Bench
019-26A Parco Park Bench with Armrests

M for In-Ground Mounting — The park bench is
equipped with an extended leg that is cast OO0 mm
into the ground.

N for Surface Mounting — The park bench is equipped
with a wide base plate that is bolted to the ground.

Assembly Instructions

Turn the park bench upside down, ensuring that the
wood is protected. Attach the frame to the seat shell
using the included screws and washers (MK6S M10x16
+ FBB M10). Use an H6 hex key.

For in-ground mounting, the center-to-center
distance between the holes should be 950 mm. The
top edge of the front board on the park bench should
be positioned approximately 465 mm above the
finished ground surface.

Ritad av Joachim Henriksson
Ritad datum 2024-03-21

nola

Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se

9(18)



Parco Bench
Product information

1610 420
o)
| O
<
940 250
1610 420
— —
Vo)
O
! <
\ o
940 Q

019-27 Parco Bench

M for In-Ground Mounting — The bench is
equipped with an extended leg that is cast 400
mm into the ground.

N for Surface Mounting — The bench is
equipped with a wide base plate that is bolted
to the ground.

Assembly Instructions

Turn the bench upside down, ensuring that the
wood is protected. Attach the frame to the seat

shell using the included screws and washers
(MK6S M10x16 + FBB M10). Use an H6 hex key.

For in-ground mounting, the center-to-center
distance between the holes should be 240 mm.
The top edge of the front board on the bench
should be positioned approximately 465 mm
above the finished ground surface.

Ritad av Joachim Henriksson
Ritad datum 2024-03-21

nola

Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se

10(18)



Parco Round table o aonm oo
Product information

019-24/66 Parco Round Table @ 660 mm
019-24/123 Parco Round Table @ 1230 mm
019-28 Parco Round Bar Table @ 660 mm

660 M for In-Ground Mounting — The table is equipped with an
, extended leg that is cast 100 mm into the ground.

N for Surface Mounting — The table is equipped with a
1230 660 wide base plate that is bolted to the ground.

i

Assembly Instructions

1100

The round table @ 660 mm is delivered pre-assembled.
The round table @ 1230 mm is delivered unassembled.

720
720

Turn the tabletop upside down, ensuring that the wood is
400 250 250 protected. Attach the frame to the tabletop using the four
included MK6S M10 x 16 screws and M10 washers.

For in-ground mounting, ensure that the tabletop is
660 positioned approximately 720 mm above the finished
ground surface, and 1100 mm above the finished ground
surface for the standing table.

1230 660
o (@) o
N N
N N
L

o o o

@) @) (@)

< < <

®
n o lq Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90 1 1 1 8
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se



Parco Conference table Ritad ay Joachim Henriksson
Product information

1610 1000
S S 019-16 Parco Conference Table
N N
! | M for In-Ground Mounting — The table is
equipped with an extended leg that is cast
400 mm into the ground.
950 S
~ N for Surface Mounting — The table is
L equipped with a wide base plate that is bolted

to the ground.
Assembly Instructions

All rectangular tables are assembled in the
same manner. Turn the table upside down,
ensuring that the wood is protected. Attach

the frame to the tabletop using the included
screws and washers.

For in-ground mounting, ensure that the
center-to-center distance between the holes is
@50 mm. The tabletop should be positioned
approximately 720 mm above the finished
ground surface.

®
n o lq Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90 1 2 1 8
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se



Parco Rectangular table Ritad ay Joachim Henriksson
Product information

1610 700
! ! o 019-25 Parco Rectangular Table
8 019-25S Parco Rectangular Bar Table
N
N
. . M for In-Ground Mounting — The table is
equipped with an extended leg that is cast 400
950 S mm into the ground.
| Y N for Surface Mounting — The table is equipped
T T with a wide base plate that is bolted to the
ground.
Assembly Instructions
1610 700 All rectangular tables are assembled in the same
manner. Turn the table upside down, ensuring
] that the wood is protected.
Attach the frame to the tabletop using the
. . included screws and washers.
3
— For in-ground mounting, ensure that the center-
| . to-center distance between the holes is 950 mm.
The tabletop should be positioned approximately
720 mm above the finished ground surface, and
, 1100 mm above the finished ground surface for
950 = the bar table.
S,

®
n o lq Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90 1 3 1 8
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se



Parco Junior Chair and Table e o o Henrissor
Product information

1351 375 019-20B Parco Junior Chair
019-25B Parco Junior Table

M for In-Ground Mounting — The furniture is
, , equipped with an extended leg that is cast 400
mm into the ground.

450

C-C 894

N for Surface Mounting — The furniture is
equipped with a wide base plate that is bolted to
the ground.

Assembly Instructions Table

400

All rectangular tables are assembled in the same
300 300 . manner. Turn the table upside down, ensuring
that the wood is protected.

Attach the frame to the tabletop using the
included screws and washers.

Assembly Instructions Chair

528

Turn the chair upside down, ensuring that the
wood is protected.

300

Attach the frame to the seat shell using the four
included screws and washers (MK6S M10x16 +
FBB M10). Use an H6 hex key.

400

®
n o lq Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90 1 Ll' 1 8
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se



Ritad av Joachim Henriksson

PG rco ROU nd ta ble Ritad datum 2024-03-21
Furnishing

Furnishing

For assembly in combination with a table and chair, we
recommend a center-to-center distance between the
table’s central post and the chair’s frame of at least 680
mm (970 mm for the large table). This is particularly
important for the swivel chair, ensuring that the backrest
does not hit the tabletop.

To allow chairs and lounge chairs to swivel freely without
interfering with each other, a minimum center-to-center
distance of 700 mm (809 mm for lounge chairs) is

7 required.

970

/ \

[ \

|

—— =
680

®
n o lq Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90 1 5 1 8
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se



Parco Rectangular table it denim 2084 00.21
Furnishing

Furnishing

For assembly in combination with a table and chair or
855 armchair, we recommend a center-to-center distance between
the table’s center post and the chair’s frame of at least 705
mm (855 mm for the conference table).

For assembly in combination with a table and lounge chair, we
< —"T11nn - recommend a center-to-center distance between the table’s

. center post and the chair’s frame of at least 715 mm (865 mm
— for the conference table). This is particularly important for the
swivel chair, ensuring that the backrest does not hit the
tabletop.

700

< i - To allow chairs and armchairs to swivel freely without
interfering with each other, a minimum center-to-center
distance of 700 mm (809 mm for lounge chairs) is required.

715

809

®
n o lq Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90 1 6 1 8
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se



Ritad av Joachim Henriksson

Parco Furniture series Ritad datum 2024-03-21
Placement above ground

Surface Mounting

The furniture in the series is equipped with base
plates that have holes for mounting with M10
screws.

u u Q Placement on Wooden Surfaces

—l
——j
—
—
——

Pre-drill and mount with French wood screws into
the wooden base.

Placement on Cobblestones or Paving Slabs

Cast the slabs in concrete. There should be no
sand between the slabs and the concrete. Dirill
the slab for an expansion or chemical anchor.

Placement on Concrete or Stone Blocks, etc.

___________ %52 % 77 Mount with a chemical anchor or expansion

/ anchor as described above. Placement with an
expansion anchor provides a removable
fastening, while placement with a chemical

anchor provides a permanent fastening.

®
n o lq Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90 1 7 1 8
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se



Parco Furniture series
Placement in ground

o
e

(ls st SAIAIAS ~._ Concrete
\ Frost-resistant material

Frost-free depth
[
N

C000000 0
POOOOOOOO
000000000
POOOOOOOO
000000000
POOOOOOOO
000000000
POOOOOOOO
000000000
POOOOOOOO
faWaWaNaNaNaNalal

00000000(Q
POOO0O000O0
00000000Q
POOO0O000O0
00000000Q
POOO0O000O0
00000000Q
POOO0O000O0
00000000Q
POOO00000
POOO0O000O0
00000000Q
POOOO0O0O0O0O0
00000000Q
POOO0O000O0
00000000Q
POOO0O000O0
00000000Q
POOOO0O000O0
00000000J

N
o
o

Ritad av Joachim Henriksson
Ritad datum 2024-03-21

In-Ground Mounting

Dig a hole for each leg with a diameter of
approximately 500 mm. Dig to frost-free depth.

In-Ground Mounting Order

1. Dig a hole for each leg with a diameter of
approximately 400 mm. Dig to frost-free depth
and add frost-resistant material, so that the
depth is approximately 500 mm.

2. Position the furniture with the leg or legs in the
dug holes. Support the furniture both vertically
and horizontally.

Refer to the individual product's information
page for the measurement above the ground
surface.

3. Cast the leg into the ground with concrete. The
concrete should not reach all the way up to the
surface, but should stop about 50 mm below the
surface.

L. Refill the ground and complete the surface.

®
n o lq Nola Industrier AB  Order, offert, & export: Malmé +46 (0)4+0 17 11 90
Produktutveckling: Stockholm +46(0)8 702 19 60 www.nola.se

18(18)



	Sheet1
	Drawing View85

	Sheet2
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View46
	Drawing View47
	Drawing View49
	Drawing View50
	Drawing View51
	Drawing View52
	Drawing View95

	Sheet3
	Drawing View53
	Drawing View54
	Drawing View57
	Drawing View58
	Drawing View59
	Drawing View60
	Drawing View96

	Sheet4
	Drawing View6
	Drawing View9
	Drawing View11
	Drawing View12
	Drawing View13

	Sheet5
	Drawing View14
	Drawing View15
	Drawing View16

	Sheet6
	Drawing View19
	Drawing View63

	Sheet7
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View41
	Drawing View42
	Drawing View61

	Sheet8
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5

	Sheet9
	Drawing View32
	Drawing View33
	Drawing View38
	Drawing View39
	Drawing View40

	Sheet10
	Drawing View30
	Drawing View31
	Drawing View64
	Drawing View65

	Sheet11
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View66
	Drawing View67
	Drawing View68
	Drawing View69

	Sheet20
	Drawing View73
	Drawing View74
	Drawing View78

	Sheet12
	Drawing View23
	Drawing View26
	Drawing View71
	Drawing View75

	Sheet21
	Drawing View97
	Drawing View98
	Drawing View99
	Drawing View100

	Sheet15
	Drawing View21
	Drawing View22

	Sheet13
	Drawing View79
	Drawing View81

	Sheet18
	Drawing View87
	Drawing View88
	Drawing View89
	Drawing View90
	Drawing View91
	Drawing View92

	Sheet19
	Drawing View93
	Drawing View94


